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Study on High Density Processing Technique Using Laser
the affect of the welding conditions on the welding zone

TAKAHASHI Ikuo and KUWASHIMA Takayuki
Joining and Welding resrarch association of Iwate prefecture

Thickness of 1,2,3mm stainless steel are welded by YAG laser using Ar and N2
shielding gas,and the affect of the welding conditions on the weld zone are studied.
(1) In the case of using Ar shielding gas, there are many blowholes in the welding zone, but
using N2 stield gas, there are not blowhole in the welding zone.
(2) The bead width of the pulse laser welding is narrow in comparison with the CW laser

welding.

(3) The tensile strength is equal to the pulse laser welding in the base metal. The bead
width of the pulse laser welding is half as large as TIG welding. YAG laser welding is
effective in the prevention of welding deformation.

key words : YAG laser, stainless steel, welding, shielding gas, blowhole, bead width
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